AN TELEDYNE a
" LECROY Qua%HY"

ENET Test Report

Overall result: Fail

DUT: CM_NEW

Comment:

Time of session start: 10/29/2019 10:23:09

Operator: CS

Temperature 25°C

Standard in use: ENET

Session ID: 76, Continuation #: 1:
Time of run: 2019/10/29 10:23:46
Configuration in use: 10BASE-T All tests
Limits in use: Default
Oscilloscope Name: LCRY4751N40116 Model: WAVERUNNER9404M-MS
Oscilloscope Serial #: LCRY4751N40116
Computer: C0038283
Oscilloscope firmware version:  8.9.0.3 (Build 263624)
QualiPHY core version: 8.9.0.1 (Build 1000001)

QualiPHY script version: 8.9.0.1

Stylesheet version: 1.2.0.7
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Summary Table

Hide Table]

Pass |# Test Measurement Current Value Test Criteria
o’ |1]| 14.3.1.2.1 |Peak Differential Output Voltage 243V 220V <x<280V
o’ |1]| 14.3.1.2.3 [8BT Output Timing Jitter 100 ohm without TPM Internal MAU 1.569 ns x <=22.000 ns
v |1| 14.3.1.2.3 |8.5BT Output Timing Jitter 100 ohm without TPM Internal MAU 1.279 ns x <=22.000 ns
" |1| 14.3.1.2.1 |[TP_IDL 100 ohm without TPM (Head) AllPass match
" |1| 14.3.1.2.1 [TP_IDL 100 ohm without TPM (Tail AllPass match
v |1| 14.3.1.2.1 |Link Pulse 100 chm without TPM (Head) AllPass match
¢ |1| 14.3.1.2.1 |Link Pulse 100 ohm without TPM (Tail) AllPass match
” |1| 14.3.1.2.1 |Differential Output Voltage Harmonics 43.3dB x>=27.0dB
" |1]| 14.3.1.2.1 [TP_IDL Load 1 without TPM (Head) AllPass match
" |1]| 14.3.1.2.1 [TP_IDL Load 1 without TPM (Tail AllPass match
" |1] 14.3.1.2.1 |Link Pulse Load 1 without TPM (Head) AllPass match
o |[1] 14.3.1.2.1 |Link Pulse Load 1 without TPM (Tail AllPass match
o |1| 14.3.1.2.1 |[TP_IDL Load 2 without TPM (Head) AllPass match
o |[1| 14.3.1.2.1 |[TP_IDL Load 2 without TPM (Tail AllPass match
o |[1] 14.3.1.2.1 |Link Pulse Load 2 without TPM (Head) AllPass match
o’ |1]| 14.3.1.2.1 |Link Pulse Load 2 without TPM (Tail AllPass match
o |1]| 14.3.1.2.1 [Template - Internal MAU Normal AllPass match
v’ |1| 14.3.1.2.1 [Template - Internal MAU Inverted AllPass match
" |1| 14.3.1.2.1 [TP_IDL 100 ohm with TPM (Head) AllPass match
v’ |1| 14.3.1.2.1 [TP_IDL 100 ohm with TPM (Tail AllPass match
v |1| 14.3.1.2.3 |8BT Output Timing Jitter 100 ohm with TPM Internal MAU 4.563 ns x <=22.000 ns
v |1| 14.3.1.2.3 |8.5BT Output Timing Jitter 100 chm with TPM Internal MAU 5.859 ns x <=22.000 ns
v |1| 14.3.1.2.1 |Link Pulse 100 ohm with TPM (Head) AllPass match
" |1]| 14.3.1.2.1 |Link Pulse 100 ohm with TPM (Tail) AllPass match
" |1]| 14.3.1.2.1 [TP_IDL Load 1 with TPM (Head) AllPass match
o |1] 14.3.1.2.1 [TP_IDL Load 1 with TPM (Tail AllPass match
o |[1] 14.3.1.2.1 |Link Pulse Load 1 with TPM (Head) AllPass match
o |1| 14.3.1.2.1 |Link Pulse Load 1 with TPM (Tail AllPass match
X |1| 14.3.1.2.1 |TP_IDL Load 2 with TPM (Head) AllFail match
v |1| 14.3.1.2.1 |[TP_IDL Load 2 with TPM (Tail AllPass match
o |1]| 14.3.1.2.1 |Link Pulse Load 2 with TPM (Head) AllPass match
o’ |1]| 14.3.1.2.1 |Link Pulse Load 2 with TPM (Tail AllPass match
v |1| 14.3.1.2.5 |Common mode output voltage 32.3 mV x <=50.0 mV
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Details

Test 14.3.1.2.1 - Differential output voltage

Up]
V Measurement: Peak Differential Output Voltage
Current Value: 2.43V Test Criteria: 220V <x<280V
Pass | Timestamp:  10/29/2019 10:24:14 | Limit Name:  10BT-DOV
Test 14.3.1.2.3 - Output timing jitter 8 BT
Up]
V Measurement: 8BT Output Timing Jitter 100 ohm without TPM Internal MAU
Current Value: 1.569 ns Test Criteria:  x <=22.000 ns
Pass | Timestamp:  10/29/2019 10:24:17 | Limit Name:  10BT-8BT-Int-Jitter
Test 14.3.1.2.3 - Output timing jitter 8.5 BT
[Up]
V Measurement: 8.5BT Output Timing Jitter 100 ohm without TPM Internal MAU
Current Value: 1.279 ns Test Criteria:  x <=22.000 ns
Pass | Timestamp:  10/29/2019 10:24:18 | Limit Name:  10BT-85BT-Int-Jitter
Test 14.3.1.2.1 - TP_IDL Head
[Up]

V Measurement: TP_IDL 100 ohm without TPM (Head)
Current Value: AllPass Test Criteria:  match

Pass | Timestamp:  10/29/2019 10:24:23 | Limit Name:  Mask-Test

4

3V

-4V
-189 ns

Pass/Fail Q1: True Q2 Q3 Q4: Qs Qé:
Allout mask PE<0V P8 <0 P8 <0 P8 <0 P8 <0

Q1) = True Passed 100 Of 100 sweeps

100 ns/div§

TP_IDL Head mask - 100 Ohm without twisted pair model
Timestamp: 10/29/2019 10:24:23

30f29




Test 14.3.1.2.1 - TP_IDL Tail

V Measurement: TP_IDL 100 ohm without TPM (Tail)
Current Value: AllPass Test Criteria:  match
Pass | Timestamp:  10/29/2019 10:24:26 | Limit Name:  Mask-Test

=200 mv

-400mV

-G00mv

-800 mV
"33us 34us 3.5us 36us 37us 3.8us 39us 4 us 4.1us 42us 4.3 s
Pass/Fail Qi: True Qz: Q3: Q4: Q5: Q6: Qr: Q8:
Allout mask P8OV P80 P80 P80 P80 P8=0 P80

Q1) = e Passed 70 01 70 sweeps

TP_IDL Tail mask - 100 Ohm without twisted pair model
Timestamp: 10/29/2019 10:24:26
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Test 14.3.1.2.1 - Link Test Pulse Head

Up]
V Measurement: Link Pulse 100 ohm without TPM (Head)
Current Value: AllPass Test Criteria:  match
Pass | Timestamp:  10/29/2019 10:24:41 | Limit Name:  Mask-Test
q\ TELEDYNE LECROY
‘ Eviarywhereyoulook”
-77.2ns -27.2 ns 228ns T28ns 122.8ns 172.8ns 2228ns 272.8ns 3228ns 3728ns 4228ns
Pass/Fail Q1: True Q2: Q3: Q4: Qa: Q6:
Allout mask Pg <0V P8 <0 P8 <0 P8 <0 P8 <0

@t = Tue

Passed 70 Of 70 sweeps

Link Test Pulse, Head mask - 100 ohm without TPM

Timestamp: 10/29/2019 10:24:41
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Test 14.3.1.2.1 - Link Test Pulse Tail

V Measurement: Link Pulse 100 ohm without TPM (Tail)
Current Value: AllPass Test Criteria:  match
Pass | Timestamp:  10/29/2019 10:24:44 | Limit Name:  Mask-Test

800 mv

GO0 MY g

400mV |-

200mv

=200 mv

400 I o

GO0 I o

-800 mV
Y ns 500 ns 1us 1.5us 2us 25us 3us 35us 4 us 45pus 5us
Pass/Fail Qi: True Qz: Q3: Q4: Q5: Q6: Qr: Q8:
Allout mask P8OV P80 P80 P80 P80 P8=0 P80

Passed 70 Of 70 sweeps

Link Test Pulse, Tail mask - 100 ohm without TPM
Timestamp: 10/29/2019 10:24:45
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Test 14.3.1.2.1 - Differential output voltage Harmonics

[Up]
V Measurement: Differential Output Voltage Harmonics
Current Value: 43.3 dB Test Criteria:  x >=27.0 dB
Pass | Timestamp:  10/29/2019 10:25:11 | Limit Name:  10BT-Harmonics
Test 14.3.1.2.1 - TP_IDL Head
[Up]

V Measurement: TP_IDL Load 1 without TPM (Head)
Current Value: AllPass Test Criteria:  match
Pass | Timestamp:  10/29/2019 10:25:33 | Limit Name:  Mask-Test

4V

v

-4V
-298 ns -198 ns -98 ns 102 ns 202 ns 302 ns 402 ns 502 ns 602 ns 702ns
Pass/Fail Qi: True Q2 Qs Q4 Q5 Q6: Qr: Q8:
Allout mask PE8<0V P8<0 PB8<0 P8<0 PB<0 P8<0 P8<0

Passed 100 Of 100 sweeps

200 ns/div] S
10 GS/s| W

TP_IDL Head mask - Load 1 without TPM
Timestamp: 10/29/2019 10:25:34
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Test 14.3.1.2.1 - TP_IDL Tail

V Measurement: TP_IDL Load 1 without TPM (Tail)
Current Value: AllPass Test Criteria:  match
Pass | Timestamp:  10/29/2019 10:25:37 | Limit Name:  Mask-Test

"33us 34us 3.5us 36us 37us 3.8us 39us 4 us 4.1us 42us 4.3 s
Pass/Fail Qi: True Qz: Q3: Q4: Q5: Q6: Qr: Q8:
Allout mask P8OV P80 P80 P80 P80 P8=0 P80

Q1) = e Passed 70 01 70 sweeps

TP_IDL Tail mask - Load 1, without TPM
Timestamp: 10/29/2019 10:25:37
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Test 14.3.1.2.1 - Link Test Pulse Head

[Up]
V Measurement: Link Pulse Load 1 without TPM (Head)
Current Value: AllPass Test Criteria:  match
Pass | Timestamp:  10/29/2019 10:25:49 | Limit Name:  Mask-Test
4V
q\ TELEDYNE LECROY
‘ Eviarywhereyoulook”
v
2V
v
1V
-2V
-3V
-4V
-77 ns -2 ns 23ns 73ns 123 ns 173 ns 223 ns 273 ns 323ns 373ns 423 ns
Pass/Fail Q1: True Q2: Q3: Q4: Qa: Q6: Qr: Q8:
Allout mask Pg<0V P8 <0 PB <0 P8 <0 P8 <0 PB <D P8 <0

Q1) = e Passed 70 01 70 sweeps

100 ns/div

10 kS 10 GS/s|Edge Positive

Link Test Pulse, Head Mask - Load 1, without TPM
Timestamp: 10/29/2019 10:25:49
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Test 14.3.1.2.1 - Link Test Pulse Tail

V Measurement: Link Pulse Load 1 without TPM (Tail)
Current Value: AllPass Test Criteria:  match
Pass | Timestamp:  10/29/2019 10:25:53 | Limit Name:  Mask-Test

800 mv

600 mV

400mV |-

200 MV |-

=200 mv

400 I o

GO0 I o

-800 mV
Y ns 500 ns 1us 1.5us 2us 25us 3us 35us 4 us 45pus 5us
Pass/Fail Qi: True Qz: Q3: Q4: Q5: Q6: Qr: Q8:
Allout mask P8OV P80 P80 P80 P80 P8=0 P80

Passed 70 Of 70 sweeps

Link Test Pulse, Tail Mask - Load 1, without TPM
Timestamp: 10/29/2019 10:25:53
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Test 14.3.1.2.1 - TP_IDL Head

V Measurement: TP_IDL Load 2 without TPM (Head)
Current Value: AllPass Test Criteria:  match
Pass | Timestamp:  10/29/2019 10:26:16 | Limit Name:  Mask-Test

4

3V

-4
-288 ns -188 ns -98 ns 102 ns 202 ns 302 ns 402 ns 502 ns G602 ns 702 ns
Pass/Fail Qi: True Q2 Q3 Q4: Q5: Q6: Qr: Q8:
Allout mask PE<OV P80 P80 P80 P80 P80 P80

Passed 100 Of 100 sweeps

TP_IDL Head mask - Load 2, without TPM
Timestamp: 10/29/2019 10:26:16
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Test 14.3.1.2.1 - TP_IDL Tail

V Measurement: TP_IDL Load 2 without TPM (Tail)
Current Value: AllPass Test Criteria:  match
Pass | Timestamp:  10/29/2019 10:26:20 | Limit Name:  Mask-Test

"33us 34us 3.5us 36us 37us 3.8us 39us 4 us 4.1us 42us 4.3 s
Pass/Fail Qi: True Qz: Q3: Q4: Q5: Q6: Qr: Q8:
Allout mask P8OV P80 P80 P80 P80 P8=0 P80

Q1) = e Passed 70 01 70 sweeps

TP_IDL Tail mask - Load 2, without TPM
Timestamp: 10/29/2019 10:26:20
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Test 14.3.1.2.1 - Link Test Pulse Head

Up]
V Measurement: Link Pulse Load 2 without TPM (Head)
Current Value: AllPass Test Criteria:  match
Pass | Timestamp:  10/29/2019 10:26:42 | Limit Name:  Mask-Test
q\ TELEDYNE LECROY
‘ Eviarywhereyoulook”
-76.8ns -26.8 ns 232ns 732ns 123.2ns 173.2ns 2232ns 273.2ns 3232ns 3732ns 423.2ns
Pass/Fail Q1: True Q2: Q3: Q4: Qa: Q6:
Allout mask Pg <0V P8 <0 P8 <0 P8 <0 P8 <0

@t = Tue

Passed 70 Of 70 sweeps

Link Test Pulse, Head Mask - Load 2, without TPM

Timestamp: 10/29/2019 10:26:43
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Test 14.3.1.2.1 - Link Test Pulse Tail

V Measurement: Link Pulse Load 2 without TPM (Tail)
Current Value: AllPass Test Criteria:  match
Pass | Timestamp:  10/29/2019 10:26:46 | Limit Name:  Mask-Test

800 mv

600 mV

400 mv

200mv

=200 mv

400 I o

GO0 I o

-800 mV
Y ns 500 ns 1us 1.5us 2us 25us 3us 35us 4 us 45pus 5us
Qi: True Qz: Q3: Q4: Q5: Q6: Qr: Q8:

Allout mask P8OV P80 P80 P80 P80 P8=0 P80

Passed 70 Of 70 sweeps

Pass/Fail

Link Test Pulse, Tail Mask - Load 2, without TPM
Timestamp: 10/29/2019 10:26:47
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Test 14.3.1.2.1 - DOV Internal MAU Normal

V Measurement: Template - Internal MAU Normal
Current Value: AllPass Test Criteria:  match
Pass | Timestamp:  10/29/2019 10:27:21 | Limit Name:  Mask-Test

1v [ -
ELEDYNE LECROY
Eviarywhereyoulook”
T50mv
500 mV
250 mv

-250mV [~

-500mv

-T50 mv
AV :
-124.6ns -104.6 ns -B4Gns -G4.6ns -44.6 ns -24.6ns 46ns & 15.4 ns 354 ns 554 ns 75.4ns
Pass/Fail Qi: True Qz: Q3 Q4: Q5: Q6: Qr: Q8:
i Allout mask PE<OV P80 P80 P80 P80 P80 P80
Q1) = e Passed 100 Of 100 sweeps

Timebase 0 ns|

DOV Template Internal MAU
Timestamp: 10/29/2019 10:27:21
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Test 14.3.1.2.1 - DOV Internal MAU Inverted

V Measurement: Template - Internal MAU Inverted
Current Value: AllPass Test Criteria:  match
Pass | Timestamp:  10/29/2019 10:27:28 | Limit Name:  Mask-Test

q‘ TELEDYNE LECROY
‘ Eviarywhereyoulook”

-224 ns -204 ns -184 ns -164 ns -144 ns -124 ns -104 ns -B4 ns -G4 ns -44ns -24ns?
Pass/Fail Qi: True Qz: Q3 Q4: Q5: Q6: Qr: Q8:
Allout mask PE<OV P80 P80 P80 P80 P80 P80

Q1) = True Passed 100 Of 100 sweeps

DOV Template Internal MAU, Inverted
Timestamp: 10/29/2019 10:27:29
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Test 14.3.1.2.1 - DOV TP_IDL Head

V Measurement: TP_IDL 100 ohm with TPM (Head)
Current Value: AllPass Test Criteria:  match
Pass | Timestamp:  10/29/2019 10:27:35 | Limit Name:  Mask-Test

4

3V

2V

-4V
-380 ns -280 ns -190 ns -90ns 0 ns 110 ns 210 ns 310ns 410 ns 510 ns 610 ns

Pass/Fail Qi: True Q2 Q3 Q4: Q5: Q6: Qr: Q8:
Allout mask PE<OV P80 P80 P80 P80 P80 P80

Passed 100 Of 100 sweeps

TP_IDL Head Mask, 100 Ohm load with TPM
Timestamp: 10/29/2019 10:27:35

17 of 29




Test 14.3.1.2.1 - DOV TP_IDL Tail

V Measurement: TP_IDL 100 ohm with TPM (Tail)
Current Value: AllPass Test Criteria:  match
Pass | Timestamp:  10/29/2019 10:27:38 | Limit Name:  Mask-Test

"33us 34us 3.5us 36us 37us 3.8us 39us 4 us 4.1us 42us 4.3 s
Pass/Fail Qi: True Qz: Q3: Q4: Q5: Q6: Qr: Q8:
Allout mask PE=0V PB<0 PB<0 PB<0 PB<0 PB<0 PB<0

Q1) = e Passed 70 01 70 sweeps

TP_IDL Tail Mask, 100 Ohm load with TPM
Timestamp: 10/29/2019 10:27:39
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Test 14.3.1.2.3 - Output Timing Jitter 8 BT

[Up]
V Measurement: 8BT Output Timing Jitter 100 ohm with TPM Internal MAU
Current Value: 4.563 ns Test Criteria:  x <=22.000 ns
Pass | Timestamp:  10/29/2019 10:27:43 | Limit Name:  10BT-8BT-Int-Jitter
Test 14.3.1.2.3 - Output Timing Jitter 8.5 BT
[Up]
V Measurement: 8.5BT Output Timing Jitter 100 ohm with TPM Internal MAU
Current Value: 5.859 ns Test Criteria:  x <=22.000 ns
Pass | Timestamp:  10/29/2019 10:27:44 | Limit Name:  10BT-85BT-Int-Jitter
Test 14.3.1.2.1 - DOV Link Test Pulse Head
[Up]
V Measurement: Link Pulse 100 ohm with TPM (Head)
Current Value: AllPass Test Criteria:  match
Pass | Timestamp:  10/29/2019 10:27:56 | Limit Name:  Mask-Test

4v

3V

2V

1“ TELEDYNE LECROY
Eviarywhereyoulook”

-2V

-3V

4v

163.5 ns

-86.5ns -36.5ns 13.5ns 63.5ns 113.5ns 2135ns 263.5ns

Qt: True Qz:
Allout mask PE<0V
Passed 70 Of 70 sweeps

Q4:
PE=0

Q5:
PE=0

Q6:
PE=0

Pass/Fail Q3

PE=0

Q1) = True

3135ns

363.5ns 413.5ns

Qr:
PE=0

Q8:
PE=0

10 kS

Link Test Pulse Head mask - 100 Ohm load with TPM
Timestamp: 10/29/2019 10:27:56
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Test 14.3.1.2.1 - DOV Link Test Pulse Tail

V Measurement: Link Pulse 100 ohm with TPM (Tail)
Current Value: AllPass Test Criteria:  match

Pass | Timestamp:  10/29/2019 10:28:00 | Limit Name:  Mask-Test

800 mv

600 mV

400 MV |- o

200 MV |-

=200 mv

400 I o

GO0 I o

-800 mV
Y ns 500 ns 1us 1.5us 2us 25us 3us 35us
Pass/Fail Qi: True Qz: Q3: Q4: Q5:
Allout mask PE<0V P8 <0 P8 <0 P8 <0

Passed 70 Of 70 sweeps

4 us

Link Test Pulse Tail mask - 100 Ohm load with TPM
Timestamp: 10/29/2019 10:28:01
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Test 14.3.1.2.1 - DOV TP_IDL Head

[Up]
V Measurement: TP_IDL Load 1 with TPM (Head)
Current Value: AllPass Test Criteria:  match
Pass | Timestamp:  10/29/2019 10:28:21 | Limit Name:  Mask-Test
4V
v
2v
v \
-1V
-2V
-3V
-4V
-352ns -252 ns -152 ns -52 ns 48 ns 148 ns 248 ns 348 ns 448 ns 548 ns G648 ns
Pass/Fail Q1: True Q2 Q3 Q4: Qs Qé: Q7 Qs
Allout mask Pg<OV P8 <0 P8 <0 PB <0 P8 <0 P8 <0 PB <0
Q1) = True Passed 100 Of 100 sweeps

TP_IDL Head mask - Load 1, with TPM
Timestamp: 10/29/2019 10:28:22
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Test 14.3.1.2.1 - DOV TP_IDL Tail

V Measurement: TP_IDL Load 1 with TPM (Tail)
Current Value: AllPass Test Criteria:  match
Pass | Timestamp:  10/29/2019 10:28:25 | Limit Name:  Mask-Test

"33us 34us 3.5us 36us 37us 3.8us 39us 4 us 4.1us 42us 4.3 s
Pass/Fail Qi: True Qz: Q3: Q4: Q5: Q6: Qr: Q8:
Allout mask PE=0V PB<0 PB<0 PB<0 PB<0 PB<0 PB<0

Q1) = e Passed 70 01 70 sweeps

TP_IDL Tail mask - Load 1, with TPM
Timestamp: 10/29/2019 10:28:25
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Test 14.3.1.2.1 - DOV Link Test Pulse Head

[Up]
V Measurement: Link Pulse Load 1 with TPM (Head)
Current Value: AllPass Test Criteria:  match
Pass | Timestamp:  10/29/2019 10:28:43 | Limit Name:  Mask-Test
q\ TELEDYNE LECROY
‘ Eviarywhereyoulook”
-86.9ns -36.9 ns 13.1ns 63.1ns 113.1ns 163.1ns 2131ns 263.1ns 3M31ns 363.1ns 413.1ns
Pass/Fail Q1: lfrue Q2: Q3: Q4: Qa: Q6:
Allout mask Pg<0V P8 =<0 P8 <0 P8 =<0 P8 <0

Q1) = e Passed 70 01 70 sweeps

Link Test Pulse Head mask - Load 1, with TPM

Timestamp: 10/29/2019 10:28:43
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Test 14.3.1.2.1 - DOV Link Test Pulse Tail

V Measurement: Link Pulse Load 1 with TPM (Tail)
Current Value: AllPass Test Criteria:  match
Pass | Timestamp:  10/29/2019 10:28:47 | Limit Name:  Mask-Test

800 mv

600 mV

400mv

200 MV |-

=200 mv

400 I o

GO0 I o

-800 mV
Y ns 500 ns 1us 1.5us 2us 25us 3us 35us 4 us 45pus 5us
Qi: True Qz: Q3: Q4: Q5: Q6: Qr: Q8:

Allout mask PE=0V PB<0 PB<0 PB<0 PB<0 PB<0 PB<0

Passed 70 Of 70 sweeps

Pass/Fail

Link Test Pulse Tail mask - Load 1, with TPM
Timestamp: 10/29/2019 10:28:47
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Test 14.3.1.2.1 - DOV TP_IDL Head

[Up]
x Measurement: TP_IDL Load 2 with TPM (Head)
Current Value: AllFail Test Criteria:  match
Fail | Timestamp:  10/29/2019 10:29:08 | Limit Name:  Mask-Test
4V
v
2v
v
-1V
-2V
-3V
-4V
-337ns -23Tns -137ns -3Tns 63 ns 163 ns 263 ns 363 ns 463 ns 563 ns 663 ns
Pass/Fail Q1: False Q2 Q3 Q4: Qs: Qs: Qr: Qs
Allout mask Pg<OV P8 <0 P8 <0 PB <0 P8 <0 P8 <0 PB <0
[Q1) = False Passed 0 Of 3.666e+3 sweeps

TP_IDL Head mask - Load 2, with TPM
Timestamp: 10/29/2019 10:30:17
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Test 14.3.1.2.1 - DOV TP_IDL Tail

V Measurement: TP_IDL Load 2 with TPM (Tail)
Current Value: AllPass Test Criteria:  match
Pass | Timestamp:  10/29/2019 10:30:20 | Limit Name:  Mask-Test

"33us 34us 3.5us 36us 37us 3.8us 39us 4 us 4.1us 42us 4.3 s
Pass/Fail Qi: True Qz: Q3: Q4: Q5: Q6: Qr: Q8:
Allout mask PE=0V PB<0 PB<0 PB<0 PB<0 PB<0 PB<0

Q1) = e Passed 70 01 70 sweeps

TP_IDL Tail mask - Load 2, with TPM
Timestamp: 10/29/2019 10:30:21
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Test 14.3.1.2.1 - DOV Link Test Pulse Head

[Up]
V Measurement: Link Pulse Load 2 with TPM (Head)
Current Value: AllPass Test Criteria:  match
Pass | Timestamp:  10/29/2019 10:30:38 | Limit Name:  Mask-Test
q\ TELEDYNE LECROY
‘ Eviarywhereyoulook”
-87.6ns -37.6ns 124 ns 624 ns 1124 ns 162.4 ns 2124ns 2624 ns 3M24ns 3624 ns 4124 ns
Pass/Fail Q1: lfrue Q2: Q3: Q4: Qa: Q6:
Allout mask Pg<0V P8 =<0 P8 <0 P8 =<0 P8 <0

Q1) = e Passed 70 01 70 sweeps

Link Test Pulse Head mask - Load 2, with TPM

Timestamp: 10/29/2019 10:30:38
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Test 14.3.1.2.1 - DOV Link Test Pulse Tail

V Measurement: Link Pulse Load 2 with TPM (Tail)
Current Value: AllPass Test Criteria:  match
Pass | Timestamp:  10/29/2019 10:30:42 | Limit Name:  Mask-Test

800mv q

600 mV

400mv

200 MV |-

=200 mv

400 I o

GO0 I o

-800 mV
Y ns 500 ns 1us 1.5us 2us 25us 3us 35us 4 us 45pus 5us
Qi: True Qz: Q3: Q4: Q5: Q6: Qr: Q8:

Allout mask PE=0V PB<0 PB<0 PB<0 PB<0 PB<0 PB<0

Passed 70 Of 70 sweeps

Pass/Fail

Link Test Pulse Tail mask - Load 2, with TPM
Timestamp: 10/29/2019 10:30:42
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Test 14.3.1.2.5 - Common-mode output voltage

V Measurement: Common mode output voltage

Current Value: 32.3 mV Test Criteria:  x <= 50.0 mV

Pass | Timestamp:  10/29/2019 10:31:11 | Limit Name: Common-mode-voltage

--- End of report ---
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